24.

25.

2022

Study the following data of an economy.

Components $ million
Private consumption expenditure 500
Gross domestic fixed capital formation 260
Decrease in stock 120
Government consumption expenditure 470
Total exports of goods 380
Re-exports of goods 140
Total imports of goods 220
Net exports of services 730
Depreciation 90
Indirect taxes 75
The gross domestic product (GDP) at factor cost is § million.
A 1925
B. 2065
C.: 2075
D. 2165
The following table shows some data of a country.
Growth rate
Year 2019 2020
Nominal GDP 0.3% -5.5%
Price level 2.0% 0.6%
Population 0.5% -1.2%

Which of the following statements is correct?
Real GDP in 2020 increased.

There was deflation in 2020.

cow>

Per capita nominal GDP in 2020 increased.

The growth rate of real GDP in 2020 was smaller than that in 2019.

27.

Which of the following would be deducted from the GDP of Hong Kong to calculate the gross national

income (GNI) of Hong Kong?
A. the salary received by a Hong Kong professor who worked in a university in Japan on a
permanent contract
B. the dividend earned by a Filipino billionaire from his holding of shares of a Hong Kong company
C. the salary received by an Indonesian domestic worker who worked for a Hong Kong family for
two years
D. the rental income earned from a residential property in the United Kingdom owned by a Hong

3:

Kong resident

Reler 1o the following data aboul Country A.

Year 2019 2020
Per capita disposable income $13000 $20000
Gini coefficient (based on household income) 0,51 (.56
Gint coefTicient (based on household disposable income) 0.51 044

{a)  Suate TWO reasons 1o explain why the increase in per capita disposable income may lead 1o an over-
(2 marks)

cslimation of the improvement in living standard ol Country A.

(b)  Based on household disposable income. did income inequality of Country A improve or worsen in
(2 marks)

20207 Suggest ONE policy which may have caused such a change.



2022

The Government lannched the Consumption Voucher Schieme in 2021 1o relieve the impact ol COVID-19 on
Ihe Hong Kong economy.

Source A: Sialistical diata aboul uncmploy ment rale in Hong Kong

Unernplovment rule by previous industre

%

12 = e Retail, accommodation and
foad services industry
10
+« s+ Public administration, social
8 and personal services
industny*
6 e ANl industries
4 #*Public administralion, social
and persanal services include
2 education. human health and

social work activities. efc.

0

N %,

9“»}&

Source B: An extract of information about the Consumption Voucher Scheme

All Hong Kong permancnt residents and new arrivals aged 18 or above, who comply with the ‘residing
in Hong Kong™ requirement. could register o receive clecironic consumption vouchers with a total value
ol $5000 by instalments.

Source C: Information aboul the four designated stored value [acilitics to receive the 85000 consumplion
vouchers by instalments

Source D: Some remunders for the Consumpuon Voucher Scheme

Consumption vouchers cannot be used in transactions such as pay ments 1o the government (¢.g. Lax),
public utilitics (c.g. clectricity charges). purchasc of financial products (c.g. insurince), and dircct
purchase from merchants located outside Hong Kong,

There are deadlines for using consumplion vouchers.

Sowrce E: Some views on the Consumption Voucher Scheme in Hong Kong

A housewile L have spent mote than $5 000 as there are e-coupons [rom the stored value facility
provider, A lol of promotions i large relail chaims and mills have also termpled
me to consume!

_ceqgatn,

A former chelina
restaurant
B9

'~

I have been laid off and have stayed home for months, No one knows when the
travellers would be back. 1 hope that the Consumption Voucher Scheme will bring
’ \‘ more local people 1o spend on food and beverage and the whole industry can

survive the pandemic, Otherwise, many workers will be forced to leave the

@ industry.

A doctor working i
4 public hospilil

Resources should be allocated to the medical sector. instead of giving everyone an
cqual amount under the Consumiption Voucher Scheme. The public hospitals
lacked space. manpower and equipment even before the pandemic, Start building
new hospitals earlier so that more lives could be saved.

consumplion
voucher users

registered
customers enjoy
$18 of stored
value

AlipayTTK Octopus Tap & Go WeChat Pay ITK
= T
ocl;\iﬂ
Alipay 1k e WeChat Pay =

Public MTR. bus, mam | MTR, bus. mini Bus and mim bus None
transportation bus and ferry bus and ferry
with the above
payment [acilitics
installed
Promotions 1o 5 e-coupons First 2 million 8§50 awarded when CCOuUpONS

using virtual Tap &
Go Unionpay card for
the {irst transaction
with an amount equal
10 or larger than $30

a

()

(c)

()

Refer to Source A.

(i) In which phasc ol business cyele the Hong Kong cconomy most likely was? Aparl [rom the
change in unemplovment rate, list ONF other economic phenomenon of this phase. (2 marks)

{id) Why did the unemployment rate of retail, accommodation and food services indusiry increase
Gaster than that of public administralion. social and personal services industry during the
pandemic? (2 marks)

Refer o Source B, Would the §5 000 disinbuled under the Consumption Voucher Scheme be included
in the calculation of government consumption expenditure? Explain your answer, (2 marks)

Bascd on the information given in Source C, explain with TWQ rcasons why the market of stored
value faciliues in Long Kong is NOT perfectly competitive. (4 marks)

Referto Source . Some citizens claimed, ‘T would rather receive $3 000 cash instead of consumption
vouchers.” 1nterms of functions of money. explain such a claim with TWO reasons. {4 marks)
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Macroeconomics by Joglc
1. Natlonal Incorng

SECTION 1: NATIONAL INCOME
1.1 EIRCULAR FLOWS

Multiple Chaice Questions

1990/CE/1/35

PR )
| Houzeholds
. " . ———> Real flow
\ S s ; --------- » Money flow

e — )

X and Y in the above circular flow of economic activities should be labeled respectively as

A.  sales revenue; factor services,

B. sales revenue; goods and services.

C. factor income; goods and services.

D. factor income; factor services.
1990/CE/M/57

Which of the following is a “stock” concept?

A.  Amy earns a monthly income of $3 000.

B.  Mr Wong consumes three cups of coffee per day.

C.  The government spent $1 billion on social services last year.

D. Peter had $t million in his savings account at the end of last year.
1991/CE/11/42

Which of the following are classified as ‘flows’?

(1) bank deposits

(2) the imports of Hong Kong

(3) rental income

(4) the inventory of a department store

A, (1)and (2) only
B. (1) and(4) only
C. (2)and (3) only
D. (3)and (4) only
3
- ¢ ™ ' B 1 r " r - r - r
) b . | N J | I L J | | ! | A

£ AZ;}A“,I_.":I:"J!*:@;» Wo—— - —
Macroeconomics by Topic
| 'Nabonal Income
1991/CE//47
FlowA

“= FlowB

w----- - Money flow
— Real flow

FlowD

When economist calculate a country’s national income by the income approach, they measure

A. FlowA
B. FlowB
C. FlowC
D. FlowD
1992/CE/11/44

Which of the following are ‘stock’ concepts?

A.  The balance in a savings account as at December 31, 1991
B. Hong Kong’s balance of payments.
C.  Hong Kong's GDP.
D.  Hong Kong's total exports.
1993/CE/N/37
~
L, FIRMS S
, N
/ A
\
Il )
[¢)] @ [©)] [CGH]
[ 1 ———s real flow
\ /
A\ / — —= money flow
AN /

~| mousmmons |7

in the above chart.

The diagram above shows the circular flow of economic activities. The economy’s expenditure and income are shown in

Flow and Flow respectively.
A (1 (2)
B, (1):(4)
C. ;)
D. (3)(4)

| = = oEmm == = BRyvided Bydse'tife




1994/CE/T1/31

What does the above diagram show?

A.  Economic activities take place in an open economy.
B. There is government intervention in the economy.
C. National income equals national expenditure.
D.  Households conduct transactions in the goods market only.
2002/CE/11/24
Refer to the circular flows below:
Flow A
Flow B

Firms

FlowD

Flow A, Flow D : real flows
Flow B, Flow C : money flows

What of the following statements is correct?

ow>

goods.

D. The flow of final goods and services includes self-provided services.

2003/CE/I/25
Refer to the following circular flow of an economy:

v Flow X

A

Which of the following is included in Flow X?

household expenditure on final goods and services
factor income such as rent and wages

value of intermediate goods

market value of all final goods and services

vow>

Macroeconomics by Tape
1. Nationat Incorfig

———— real flow
3 money flow

Households

W

Flows A and D are flows of househalds’ expenditure and firms’ payment to factor owners respectively.
All value-added totals contributed by the firms equal the market value of al final goods and services.
The market value of Flow B equals the market value of all final goods and services plus the market value of unsold

— Money Flow
«--3 Real Flow

Magroeconomics by Topic

1. National Income

2009/CE/N/26

Refer to the lollowing circular flow of Economy A:

Household

g Real flow

-=== money flow

Flow X represents

A, the total expenditures on all final goods and services.

B.  the total income earned by households from their factor services.

C. the total value of factor services provided by households to firms.

D.  the total market value of all intermediate and final goods and services.

MARKING SCHEME

1990/CE//35 199 1/CE/L42 1992/CE//44 1994/CEME31 2003/CEL/25

A C A C B (62%)
1990/CEA/57 1991/CEAAT 1993/CE/T37 2002/CENL24 2009/CEL/26

D C B B (48%) A (68%)

Note: Figures in brackets indicate the percentages of candidates choosing the correct unswers.
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1.2 EXPENDITURE APPROACH

Multiple Choice Questions

1990/CE/N1/33

ANTE Mg ] ]
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Macrosoonainics by Top
1. National Iricome

A Hong Kong citizen switches his fight from a local aitline to Japan Airlines. What is the effect on Hong Kong’s Gross

Domestic Product (GDP)?

A. anincrease in imports

B. adecrease in exports

C.  adecrease in consumption

D.  anincrease in investment
1993/CE/1/39

Private consumption expenditure
Government consumption expenditure
Gross domestic fixed copital formation
Change in slocks
Total exports of goods
Domestic exports
Re-exports
Imports of goods
Exports of services
Imports of services
Inflow of capital
Outilow of capital

The GDP of the economy in that year is

A, $61 million B.  $70 million
C.  $71 million D.  $81 mullion
1993/CE/II/51

An increase in exports and a decrease in imports will cause the national income to

In using the expenditure approach to calculate the Gross National Product (GNP) of an economy, imports should be deducted

A.  increase
B. decrease
C.  remain unchanged
D. either increase or decrease
1996/CE/11/28
because:
A.  Some imports are substitutes of domestic products.
B. Some imports are intermediate goods.
C. TImports will lead to payments to foreign countries.
D.

7
- N ¢ " f L - ff
i . . . S =) i

Imports are the expenditure on goods and services produced by foreign countries.

nWrmmm Ly Topic

P ———
T T

| Natioral Irjcatre
1996/CE/11/30
Refer to the following information about an economy
GNP at markel price $100
Exports of goods and services 20
Imiports of goods and services 30
Net mcome from abroad -5
|Indirect taxes 25
Subsides 35
Depreciation 5
The GDP at factor cost is:
A, $95 B. $105
C. $l115 D. 5125
[998/CE/11/30
Answer Question 30 by referring to the following data of an economy:
$Mn
Gross national product at market price 46
Change in stock 3
Net income from abroad 1
Subsidies 4
Depreciation 5]
Indirect business tax [}
Net exports 2
The gross national product at factor cost (in $Mn) is
A 39 B. 43,
C. 44, D. 47
2001/CE/11/28
The following table shows the gross domestic product (GDP) data of a country.
$Mn
Private consumption expenditure 500
Government consumption expenditure 100
Net domestic fixed capital formation 250
Changes in inventories 30
Total exports of goods 800
Re-exports of goods 200
Imports of goods 900
Exports of services 300
Imports of services 150
Depreciation 60
The GDP at market price is
A, $900 million. B.  $930 million.
C. $990 million. D. 81190 million.

“

o

Provided bydse'tife




Marrosconomics by Tople
1. Natiorat Irkome
2003/CE/11/26
The following table shows the gross domestic product (GDP) data of a country in a certain year.
$ Miilion
Private consumption expenditure 400
Government consumption expenditure 100
Gross domestic fixed capital formation 200
Reduction in inventory 20
Domestic exports of goods 330
Re-exports of goods 170
Imports of goods 550
Exports of services 400
Imports of services 350
Depreciation allowance 60
The GDP at market price is
A, 8620 million. B.  $660 million.
C.  $680 million. D.  $720 miilion.
2004/CE/N/29
The introduction of the ‘individual visit® (8]l A # ) scheme for Mainland visitors to HK would increase the GDP of HK. The
spending of these visitors on jewellery in HK is a/an of HK.
A, consumption expenditure
B. investment expenditure
C.  export
D. import
2005/CE/M/27
The following table shows the statistical data of an economy n a certain year
Million Dollars
Private consumption expenditure 50 000
Government consumption expenditure 8 000
Gross domestic fixed capital formation 7 000
Decrease in inventory 3000
Total export 30 000
Total import 45 000
Indirect taxes 50
Depreciation allowance 4 200

The GDP at market price (in million dollars) is

A, 42850 B. 47 000.
C. 50000 D. 51150

) B 1 1 B - ki 1 ]
Macroeconomics by Topic
1. National income
2006/CE/I1/28
The following table shows the statistical data of an economy.
Components $Million
Private consumption expenditure 200
Government consumption expenditure 150
Net domestic fixed capital formation 300
Decrease in stock 70
Subsidies 120
Depreciation 50
Net exports 300
Net income from abroad 80
Direct tax t00
The GDP at factor cost (in $mn) is
A 850 B. 970,
« | 650 D. 1190
2008/CEM/ 26
The following table shows the national income statistics of an economy
Components $Million
Private consumption expenditure 800
Government consumption expenditure 250
Gross domestic fixed capital formation 600
Decrease in inventories 50
Total export of goods 1700
Total import of goods 450
Export of services 850
Import of services 550
The gross domestic product (GDP) at market price is § million.
A 3100 B. 3150
C. 3200 D. 3250
2009/CT/11728
The following table shows the statistical data on an cconomy
Componenls $ million
Private consumption expenditure 600
Net domestic fixed capital formation 250
Increase in stock 70
Government consumption expenditure 450
Depreciation 30
Total exports of goods and services 500
Total imports ol goods and services 140
Re-exports of goods 100

The GDP at market price is $

A 1690
C. 1760

million.
B. 1730
D. 1830
10
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Study the following table and answer questions 26 and 27

2010/CE/M/26
The GDP at market price is $

A 375
C. 395

2010/CE/N1/27
The GDP at factor cost is §

A 315
€y B3
2012/DSE/1/22

Refer to the following table.

Macroeconomics byTogie
L National Incorve

GDP Items

$ biilion

Private consumption expenditure
Gross domestic fixed capital formation
Changes in inventorics

Depreciation

Government consumption expenditure
Transfer payments

Indircet taxes

Subsidies

Net exports of goods and services

100
200
-50
10
150
20
100
40
-15

billion.
B. 385
D. 445
billion.
B. 325
D. 445

Gross Domestic Product (GDP) Components

$ million

Private consumption expenditure

Net domestic fixed capital formation
Increase in inventory

Government consumption expenditure
Net exports

Indirect taxes

Subsidies

Depreciation

Net factor income from abroad

200

40
X
24
10
60
30
40
16

If the GDP at factor cost is $264 million, the value of x is

A -50
C. 20

B. -20
D. 50

11

| Magrosonomics by Topic

§ Manonal income
2013/DSE//22

Consider the following Gross Domestic Product (GDP) data about a country.

The government consumption expenditure for that year is §

A 20
C. 40
2016/DSE/1/23

Components

$ million

GDP at market price

Private consumption expenditure
Gross domestic fixed capital formation
Change in inventories

Total exports of goods

Domestic exports of goods

Imports of goods

Exports of services

Imports of services

Net income from abroad

200
120

Depreciation
Indirect business tax
Subsidies
million.
B. 30
D. 50

Consider the following Gross Domestic Product (GDP) data about a country.

The GDP at factor cost is $

A, 960
C. 1000
'] & - &

GDP Components $ million
Private consumption expenditure 380
Government consumption expenditure 450
Gross domestic fixed capital formation 230
Decrease in stock 50
Subsidies 30
Depreciation 40
Total exports 130
Total imports 170
Direct tax 30
miflion.
B. 970
D. 1100
12
N " ~ . Y .
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Macrdeconotnics by Topie NMacrosconomics by Topic
1. National [ncame. . Natiora! income
Short & Structured (uestions 2018/DSE/N/12(c)
Source 2: Statistical data about tourism in Hong Kong in 2016
1990/CE/1/3(a)(iit) 2016 Compared with 2015 (%)
The following are Hong Kong’s Gross Domestic Product (GDP) companents (at current prices) in 1988: Mainland visitors 42.8 hillion . 7%
Total visitors 56.65 billion 4.5%
$ Billion Total tourism expenditure — =
Private consumption expenditure 255 assoclited (o inbotind touriEm 11K$296.2 billion -10.1%
Government consumption expenditure 30
Gross domestic fixed capital formation 109 With reference to Source 2, to which component of Hong Kong’s GDP does the ‘total tourism expenditure associated to
Increase in stocks 10 inbound tourism’ belong? (1 mark)
Domestic exports of goods 218
Re-exports of goods 275
Imports of goods 501
Exports of services 86
Imports of services 56 MARKING SCHEME
(The GDP deflator for 1980 = 100)
Find Hong Kong’s GDP at current prices for 1988. Name the approach you have used to calculate the national income. 1990/CE//33 1996/CET/30 2004/CEAT29 2009/CEAT28 2013/DSE//22
(5 marks) A C C (36%) € (53%) A (60%)
) 1993/CE/IT/39 1998/CE//30 2005/CE/127 2010/CE/L/26 2016/DSEN/23
1993/CE//4(a)(1) C C B (51%) B (63%) € (54%)

The following table shows the composition of Hong Kong’s Gross Domestic Product (GDP) in 1980 and 1990

R toinl GDP 1993/CEM/S T 2001/CE/AT28 /CTEAL2S f %
atin to toinl GDF - L) )
A A C C (29 B (63%
GDP Components 1980 1990 (FE0) i
fivatcicopsumptionfexpendituie G2 = 1996/CE/11/28 2003/CEA1/26 2008/CI1/26 2012/DS /122
IG"?Zilr:;r:\s:\t consumption expenditure 320}- zg[;. D C (44%) B (71%) B (61%)
Jestme A A
I”““"T gg:;“ :??Z//" Note: Figares in brackets indicate the per ges of candidates ch ing the correct answers.
mports (3 61%

Name the method of GDP measurement used in the above table and calculate the value of A. Show your working. (4 marks)
1990/CE//3(a)(iil)

: CHI+HGHX M) (2)
2002/CE//H1(a)(1) ) ) ) ) =$(255+ 109 + 10 + 30 + 218 + 275 - 501 + 86 - 56) bn. = $426 bn. 2
The following shows the gross domestic product (GDP) data of economy A in a certain year. Expenditire approach (0
Smiltion
Private consumption expenditure 400 1993/CT/4(a)(i)
Net investment expenditure 180 Expenditure approach (1)
Government consumption expenditure 250 62%% + A% + 36% + 88%4 - 939 = 100% (2
Exports - 500 AT (1)
Imports 650
Depreciation 150
Indircct business tax 50 2002/CE/H/11¢a)1)
Interest 200 $(400 + 180 + 150 -+ 250 + 500 - 650) m (2)
= $830 m 83
Calculate the GDP at market price of cconomy A. (3 marks)
2018/DSE/2(c)
Bxport of scrvices / net exports [O)]
13 14
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Macroeconomics by Togee
1. National Income

1.3 VALUE-ADDED APPROACH

Multiple Choice Questions

1992/CE/1I/13
Which of the following can lead to the conclusion that the manufacturing sector in Hong Kong is declining in its contribution
to Hong Kong’s Gross Domestic Product (GDP)?

A, The number of workers in this sector is decreasing,

B.  The number of firms in this sector is decreasing.

C.  The wage rates in this sector are decreasing.

D.  The value added of this sector is decreasing.
1992/CE/11/46

Which of the following ways of measuring output involves double counting?

A, summing up the expenditures on all final goods and services

B.  summing up the incomes earned by all factors of production

C. summing up the values added in all production stages

D.  summing up the values of all market transactions

1995/CE/11/59
Real GDP value-pdded per emplovee

Year 1982 1992
Manufacturing sector $41 000 $165 000
Services sector $103 000 $280 000

Which of the following statements is NOT a conclusion drawn from the above table?

A, The manufacturing sector had a higher labour productivity in 1992 than in 1982.

B.  The services sector had a higher labour productivity in 1992 than in 1982

C.  The services sector had a higher labour productivily than the manufacturing sector in 1992,

D.  The services sector had a higher labour productivity growth rate than the manufacturing sector.

1998/CE/I/25
The following transactions were recorded in an economy in a certain year:

(1) Firm A sold its products to Firm B for $100 and Firm C for $200.
(2) Firm B then resold part of the products to households for $200 and the rest to other firms for $300,
(3) Firm C then exported the products for $500.

In the above transactions what was the total contribution of Firm B and Firm C to the gross domestic product (GDP) of this
cconomy?

A $700 B, $900
C. $1100 D $1300
15
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1 National incorne

2000/CE/11/35
The following diagram shows a production chain involving the import of $100 worth of gasoline into Hong Kong:

$100, [ Tocal | $300 [Gasolime| $1000 | o
importers |_statiﬂ' {3500 tax incluslvc)'

What is the contribution of the production chain to Hong Kong’s GDP at factor cost?

A $400 B. $500
C. $900 D. $1 000
2002/CE/N/26

Nancy runs a bouticue in Hong Kong. The following table shows the boutique’s financial statement for a given period of time.

($ 000) ($ 000)

Sales revenue of fashions 16 000
Less : Imported fashions 2000

Blectricity & water charges 3000

Wage payment 2500

Profits tax 300 9 000
Net profit 7000

What is the contribution of Nancy’s boutique to Hong Kong’s GDP in thousand dollars?

A. 7000 B. 11000
C. 14000 D. 16000
2003/CE//27

The following diagram shows the praduction of a garment factory in Economy A. The factory imports $20000 worth of raw

materials
[¢]
13 3 verseas
$20 000 G >
> Garment

Factory

—_—
$30 000 ($5 000 Consumers
sales tax inclusive)

What is the contribution of the garment factory to Economy A’s GDP at factor cost?

A, $10000 B.  $50 000
C.  $55000 D.  $75000
2004/CE/1/27
The following diagram shows a production process of an economy.
Imported
matetials 8600 84 &,
Amy's garment
factory

Local — ~, | Local

materials $400 $2 000 boutiques

What 1s the contribution of Amy’s garment factory to the national income of the economy?

A $1600 B. $3 700
C. $5300 D. $5900
16
L . . .
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Macraeconomics by Topic
1. Natkanal Income

2005/CE/11/28
A production chain is shown below.

Wool jacket — ($1 400) ﬁong Kong
Flong fony | —p
(5700) _w| MO ) Consumers

A Hong Kong
Garment Factory Wool jacket
A Hong Kong | ($1 200)
Waol jncl:“ Trading |~
($800) Campany

The contribution of the above production chain to Hong Kong’s GDP is
A. %1400 B. §t 700.
C. $2400. D. $2600

Answer questions 28 and 29 by referring to the following production chain of watches in an economy. The local watch
manufacturers import $10 000 worth of raw materials.

5 LocalWatch | o Lacal
50 600
Retailers $80 000 (85 000 Consumers
M, Local Watch indirect business
Manufacturers tax inclusive)
40 000 Foreign
Countries

2007/CE/11/28
What 1s the contribution of the above production chain to the economy’s GDP at market prices?

A, $105000 B. $110000

C. $115000 D. $120000
2007/CE/11/29
Which of the contribution of the Jocal watch retailers to the economy's GDP at factor cost?

A, $25000 B.  $30000

C.  $75000 D. $80000
2009/CE/11/27

The following diagram shows a production chain of computers in an economy. It involves the import of $5 000 worth of raw

materials.
33 000& Local comy $10000= Comnp $13 600 N
(imported | mantufactarer ($2 600 indirect rernilers

raw i tax
raterials) inclusive)

What is the contribution of the above production chain to the economy’s gross domestic product (GDP) at factor cost?

A 86000 B.  $8000
C. $10000 D.  $13000
17
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'Natioral kcoms

2010/CE/1/28

The following diagram shows a production chain of computers in an econamy. It involves the import of
$6 000 worth of raw materials.

{$2 000 indirect
business tax Local
$6 000 Losal $7000 L““ﬁ;‘;’"’“ 58200
*| wholesalers exporters
\ Overseas
$3 100 importers

What is the contribution of the above production chain to the economy’s GDP at factor cost ?

A $3300 B.  $5300
C. $9300 D.  $11300

201 1/CE/MNI26
The following diagram shows a production chain of garments in an economy. It also indicates the selling price of the output
in different stages ol the production. The imported raw materials are worth $6 000,

£8 000 ] Lacal retatler I
JRE— Local garment
(fmported manufacturer
i \ Garment teadin Fore
materials) $10 000 B 1 815000 Foreign
importer

312000
B o

Local
consumers

company e

Suppose the garment trading company has received $1 000 export subsidy from the government. What is the contribution of
the above production chain to the economy’s GDP at factor cost?

A $20000 B. $22000
C.  $26 000 D. $28000
2014/DSE/N/24
The following diagram shows a production chain of a good in Economy X:
Ray. $50 £200 E Chi
materials xport to China
from ch_mry 1
Australia . d
X : s1g0 | Wholesaler 5240 | Retailer | gq09 Consurmers
Raw $70 b in — in_ > of
materials | Economy Economy |S60sE]  Feanomy
tax
from X X inclodive)| X
Thailand

What is the contribution of the production chain to the Gross Domestic Product (GDP) at market price of Economy X?

A 8340 B $39
C. $450 D. $600
18
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1. National Income:

2017/DSE//25
The following diagram shows a production chain of watches in an economy:

Imported materials 510
— Local watch
manufacturers

.| Local watch
Local materials 520 $1207 | retailers

$280
($50 tax inolusive)

The contribution of the local watch manufacturer to the economy’s GDP at market prices is

A $220 B. $240
C. $350 D.  $400
2019/DSE/N/26

Refer to the following production chain in Country A and snswer the question.

fruits, | Domestic
$500 | _consumers

fruits | Local fruit
5800 im

fruits Jam Jam
$600 | manufncturers |$1

Suppase the above production chain has ncluded  subsidy of $300 that is given to the jsm manufnetursrs,

What is the contributi of the sbove prod chain to Country A’s GDP st factor cost?
A S1700
B, $1300
C.  $2000
D.  $2300
2021/DSEN/23

A production chain of Good X in an cconomy is shown balow,

31200
(F100 sales tax Local
204 Local $400 inclusive) consumers
"
Yawy rporers Local
mterialy supermarkels
Fareign
Local / $500 i
farmers $600 (il
increase in inventory
$50

The contribution of the shove praduction chuin to the sconomy’s gross domestic product at factor cost is

A BL400
B.  $1450
¢ 51500
D, S1isn
. . . - . f
) e " « . k . J b

MSerostoricHics by Topic
1 Nationa! [ncorme
Short & Structured Questions
1990/CE/1/3(a)(ii)
The following are Hong Kong’s Gross Domestic Product (GDI’) components (at current prices) in 1988
$ Billion
Private consumption expenditure 255
Government consumption expenditure 30
Gross domestic fixed capital formation 109
Increase in stocks 10
Domestic exports of goads 218
Re-exports of goods 275
Imports of goods 501
Exports of services 86
Imports of services 56
(The GDP deflator for 1980 = 100)
The re-exports of goods has a greater value than the domestic exports of goods. Does it follow that re-exports contribute
more to the national income of Hong Kong than domestic exports? Explain. (7 marks)
1994/CE//11(c)
The vegetable sales revenue of Mr Chan’s farm for the year 1993 was $100 000, Give TWO possible reasons to explain why
the contribution of this farm to the gross domestic product (GDP) of the country in 1993 could be less than $100 000.
(6 marks)
1997/CE//1 1 (a)(ii)
Suppose $ 1 million worth of seafood is imported to Hong Kong. Half of it is sold to local households at $ 0.8 million and
half to local restaurants at $ 0.7 million. These restaurants cook and sell the seafood to their customers at $ 1.6 million of
which $ 0.6 million is tourist spending.
() The above transactions will also affect Hong Kong’s GDP. Use TWO different measurement approaches to catculate
the change. (4 marks)
(1) Explain why the use of EACH of these two measurement approaches will not fead to the problem of double-counting.
(4 marks)
1999/CE/1/9(c)
The following diagram shows a production chain involving the import of $100 worth of red wine into Hong Kong. The sales
value of different producers are indicated below:
Supermarkets $350
3230 and Customers
$100 Local
= $60 [ Lol |5160,[ Forcign
exporter importer
Calculate the contribution of the production chain to Hong Kong’s national income by
(i)  the value-added approach. (3 marks)
(1) the expenditure approach. (3 marks)
20
=1 . - A f r - r Al
i G . = y \ ] . ] S -

Provided by dselife




-~ m™mm>—-—@™@™ M~

Macroeccabmics by Topic
1. Nationai Incortig

2001/CE/1/11(a)(i)
Refer to the following production chain in Hong Kong:

2 .
Cement $20m | 4 'P roperty
Factory Dev
Co. Ltd.

Local -
materials $0.5m

Calculate the contribution of the above production chain to Hong Kong’s GDP using the value-added approach. (3 marks)

2003/CE//9(b)(1)
Firm A is a local manufacturer in Hong Kong producing goods for export only.

Give TWO reasons to explain why the contribution of this firm to Hong Kong's gross domestic product (GDP) in 2003

could be smaller than the total export value of this firm in 2003. (4 marks)
2004/CE/1/10(b}

The sales revenue of a local travel agency was reduced by $200 million. Give ONE reason to explain why the reduction in
that part of Hong Kong's GDP contributed by the travel agency is less than $200 million. (2 marks)
2006/CE/I/5

The following diagram shows the production chain of toys in Economy A. Its toy factories import $30 000 worth of raw
miturinls

S65(000 $60 000 Foreign
Countries
— Lacal Toy Local
Factories Wholesalers
Local
$50 000 (85 000 sales Consumers
tax inclusive)

Calculate the contribution of the above production chain to Economy A’s

(a) gross domestic product (GDP) at factor cost using the expenditure approach. (3 marks)
(b) GDP at market prices using the value-added approach. (3 marks)

2014/DSEAN/11(b)
Suppose the sales revenue to the Japanese automobile exporters was 100 billion Japanese Yen in 2013, Give TWO reasons
to explain why their contribution to Japan’s GDP would be less than 100 billion Japanese Yen in 2013, (4 marks)
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Magroeconorics by Tepic
1. National income

MARKING SCHEME
1992/CEAL/13 2000/CE/1I/35 2005/CEA1/28 2010/CE/1/28 2019/DSEN26
] A C (69%) A (66%) D
1992/CE/T46 2002/CEM2G 2007CEAN2S 2011 /CEAI/26 ZZL =
D B(17%) B (52%) B i
1995/CE/M/59 2003/CENL2T 2007/CEA129 2014/DSE//24
D B (54%) A (46%) C1%
1998/CE/M2S 2004/CE/M/27 CTAE27 2017/DSE/N/25
A C(75%) A (56%) A (40%)
Note: Figares in brackets indicate the percentages of candid, I ing the corvect ansvers.
1990/CE/1/3(a)(if)
No, becanse . (1)
the contribution to the national income depends on the valued-added. 3
for domestic exports of goods, Hong Kong adds value onto the imported raw materials and semi-manufactured
goods mainly by providing labour services. 3) a7
for re-exports, Hong Kong earns income from providing services to the re-export trade. {3) (max:
the income sarned from domestically-produced goods for exports can be smaller or greater than that from
servicing re-exports. 2)_
1994/CE/N/11¢c)
Some vegetables were not current production (Le. inventory of the previous year) (2)
Some fertilizers used / vegetables sold were not produced by Mr Chan’s farm 2
1997/CEA/) 1{a)Xil)
(1) [Output {or value-added) approach:]
S[{0.8-05)+(07-05)+(1.6-07)]m (1)
=$14m (1)
[Expenditure approach: |
$HO8+H1.6-1Ym (1
tdm (
(Mere mention of correct numerical answer $1.4 m without showing working —max: | mark)
{0 [Value-added approach:}
Input costs are deducted at every stage of production. 2)
[Expenditure approach:]
Only the expenditures on final goods and services are summed up. (2)
1999/CE/1/9(c}
(i) Value-added approach:
$1230 + 60 - 100] + $[(350 - 230) -+ (160 - 60)) (2)
= $410 (1)
(i) Expenditure approach:
$(350 + 160 - 100) (2)
= §410 (N
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2001/CE 1(2)(D)
$[(90 -20) + (20 -2-0.5) + 0.5] m @
= §88 m (1
2003/CEN/9(b)(i)
Firm A’s contribution is the value added by A to the production. Other firms’ contribution in the production process should
have been deducted. @)
Total export value in 2003 may have included part of the mventory in past years which should be deducted from the 2003
figures )
2004/CE//10(b)
The value of cutputs of other firms in HK that are bougtt by this firm for its production, (2)
2006/C
(a)  $(50 000 + 60 000 - 30 000) - $5 000 H
= $75 000 @)
(b)) ${(60 DOO -+ 50 000) - 63 600} + $(65 0G0 - 30 000) m
= $80 000 @)
2014/DSEA/11(b)
Not all factor inputs used to produce Japanese cars originated from Japan. e.z.. some of the parts or raw materials were
mported (23
Some Japanese cars sold in 2013 were not produced in the same vear. e.g., some of them came from the inventory. 2)
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Macrseconomics by Toplc
1. National Income

1.4 JJTEMS INCLUDED AND EXCLUDED IN GDP

Multiple Choice Questions

1990/CE/11/39
Mr Wong is a second-hand car dealer. He bought a used car for $20 000 which he immediately resold for $25 000. By how
much would the gross national product be increased after he sold the car?

A, $5000
B. $20000
C. $25000
D.  $45000
1990/CE/11/49

The following were received by Mr A last year:

(1) wages of $10 000

(2) public assistance of $1 000

(3) $100 interest from his savings account
(4) aMark Six prize of $8 000

His contribution to the GDP last year was

A, $10000.
B. $10 100
C. $11100.
D. $19100.
1991/CE/11/44

Which of the following is included when calculating Hong Kong’s gross domestic product (GDP) by the expenditure
approach?

A.  the compensation paid to Kowloon Walled City residents

B. the expenditure incurred on buying a second-hand car

C. the revenue earned from toys sold to Americans

D. the revenue received by the government from taxation
1992/CE/11/45

Which of the following amounts should be included in the measurement of GDP?

A, Mr. Chan sells his house, built two years ago, for $2 000 000.

B.  Mr. Chan buys shares worth $150 000.

C.  Mr. Chan wins a Mark Six prize of $1 000 000.

D.  Mr. Chan receives a monthly salary of $35 000.
1992/CE/11/47

A building which collapsed in a landslide at the beginning of the year was re-built at the end of the year, The GDP in that
year

A. increased
B.  decreased
C.  remained unchanged
D. decreased at first and later increased
24
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Macyneconomics by Topk:
1. Natienal Income
1992/CE/11/58
The expenditure by the Hong Kong government on Vietnamese boat people included in Hong Kong’s GDP
becuse
A.  should be ...... goods and services are produced in Hong Kong
B. should be ...... part of the expenditure will be paid back by the United Nations
C.  should NOT be ...... goods and services are spent on foreigners
D. should NOTbe ... Vietnamese boat people do not produce goods and services

1993/CE/MN/35
Which of the following is included in the measurement of Hong Kong’s Gross Domestic Product (GDP)?

A, medical benefits of civil servants

B. student travel subsidy

C. dividends gained from overseas investments

D.  money won from betting in a horse race
1994/CE/N/32

Which of the following items should be included in Hong Kong’s GDP for the current year?

A.  Aninvestor buys shares on the local stock exchange.
B. A British citizen receives a salary for teaching English in a school in Hong Kong.
C. A student sells some used textbooks to his friend.
D. A manufacturer sells last year’s unsold stocks
1995/CE//60

Which of the following will NOT be included in Hong Kong’s GDP?

A, profits earned by individual investors from buying and selling shares in the Hong Kong stock market
B. bonuses paid by the Stock Exchange of Hong Kong Limited to its stafl’
C. stamp duty levied on the shares bought and sold in the Hong Kong stock market
D. commissions paid to the brokers for transactions in the Hong Kong stock market
1996/CE/11/27

Which of the following items is included in the calculation of Hong Kong’s GDP?

A. The government grant received by a university student.

B. The salary received by a civil servant who is a foreigner working in Hong Kong

C. Interest to a loan paid by a firm in Hong Kong to a bank in Japan.

D. Loans repayment made by the Hong Kong government to the Hong Kong Bank.
1997/CE/N1/24

The following shows some assets of a farm. Which should be included in the calculation of investment expenditure of the GDP
of this year?

A. the expenditure on the ploughing of 10 acres of new farmland in spring this year

B. the value of 10 tonnes of wheat stocked up since last year

C. the settlement of a $10 000 debt incurred as a result of repairing machines last year

D. arecent expenditure on acquiring 10 000 units of government bonds in order to earn an annual interest of
$55 000
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1. National Income

1997/CE/I/29
Which of the following events that occurred in 1996 would lead to a rise in the GDP of 19967

A.  The government issued more Exchange Fund bills

B. The government increased the salaries tax allowance.

C.  The market value of accommodation units which were completed and sold in previous years rose continuously.

D. An international corporation collected $1 billion from the subscribers of its newly-issued shares.
1997/CE//G0

Which of the following items is NOT included in the calculation of GDP?

A.  government spending of $300 million on the employee retraining programme

B. unemployment benefits of $20 million paid by the government

C. commission paid by a successful job searcher to an employment agency for job referral services

D. salaries paid to the two extra posts created in the Labour Department to help job searchers
1998/CE/11/26

Which of the following would be considered as part of the national income?

A.  commissions received by salesmen selling second-hand cars

B. agift cheque to a bride for an invitation to her wedding banquet

C. insurance compensation to injured workers

D. scholarships to students with good results in schools
1999/CE/M/24

Which of the following should be included in the calculation of gross national product (GNP)?

A, the value of newly issued shares sold
B. the value of shares transacted in the stock market
C. stamp duty paid for buying shares
D. capital gain from sclling shares
1999/CE/11/31

Which of the following $1 million amounts is included in the calculation of Hong Kong’s GDP?

A, Afamous singer holds a charity performance in Hong Kong and donates all the proceeds of $1 million to the floods
victims in Mainland China.

B. A father transfers $1 million worth of company shares to his daughter.

C. A victim in a traffic accident receives a sum of $1 million from the government as compensation for injury.

D. An investor earns a capital gain of $1 million from the sate of his flat.

2000/CEA/33

Which of the following is included in the calculation of the gross domestic product (GDP) of Hong Kong?
the estimated rental value of an owner-occupied property in Hong Kong.
the low-interest government Joans to university students in Hong Kong

A

B.

C. the interest paid to foreign investors holding Exchange Fund bills

D. the increase in the price of the shares issued by a bank in Hong Kong
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|. National incorng
2001/CE/11/50
Which of the following should NOT be included in the calculation of Hong Kong’s GDP?

the loans made by a local bank to its customers

the tips received by a bellboy in a local hotel

the 10% service surcharge collected by a local restaurant
the income carned by a local hawker.

vows>

2002(CE/1/49
Which of the following items should NOT be included in the calculation of Hong Kong’s GDP?

profit gained by a car agent from reselling second-hand cars
compensation paid to a car owner for his loss in a traffic accident
insurance premium for a car paid to a local insurance company.
Income earned by a person from repairing cars

oowm>

2004/CEAN26
Which of the following should be included in the calculation of the gross domestic produet (GDP) of Hong Kong?

A.  the money received from the “We Care Education Fund’ by children who lost their parents to SARS

B.  the money received by a local property agent for this service in the resale of flats

C.  the money received by a local student from selling his used reference books to his schoolmates

D. the money received by a local limited company from issuing new bonds in the market.
2005/CE/11/26

Which of the following items is included in the calculation of the gross domestic product (GDP) of Hong Kong?

A.  the salary receives by an American who works for a local television station as a reporter

B. the money received by a local student from selling his mobile phone to his classmate

C.  the cash award won by a local citizen in a game show organized by a local television station

D. the insurance compensation receives by a local construction worker for his injury
2006/CE/11/25

Which of the following $5 million amounts is an investment expenditure in the national income accounting of Hong Kong?

taking-over a company in Hong Kong by buying up $5 million worth of shares
purchasing $5 million worth of “Hong Kong Link” bonds (T f¥ — #% 4% 3¢ )
depositing $5 million into a licensed bank of Hong Kong

spending $3 million to turn a shopping mall car park in Hong Kong into shops

vowy

2007/CEN26
Which of the following statements about GDP is correct?

GDP includes the value of imports.

GDP is the total income of all the resident producing units.

GDP is higher than gross national product if the net income from abroad is negative.
GDP is the vatue of all goods and services transacted in the market.

oow»>

2007/CEMNV2Y
Wiich of the following would be included in the GDP for 20057

Money deposited in a saving account during 2005
The purchase price of an antique in 2005

Public assistance paid to individuals during 2005
The value of wheat produced but unsold in 2005

o
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)\ Natioral Incarne

2015/DSE/1/24
Which ol the following would be included in the calculation of Hong Kong's GDP lor 20147

A the old age allowance paid by the government in 2014

B. the market value of a flat built in 2013 but sold in 2014

C.  the salary of a salesperson working in a shop selling second-hand handbags in 2014

D. the rental income from a property in Canada owned by a Hong Kong resident producing unit in 2014
2018/DSE/1/24

Which of the following are included in the calculation of the gross domestic product of Hong Kong?

(1) the estimated rental value of an owner-occupicd property in Hong Kong
(2)  the commission received by a real estate agent from selling second-hand property
(3) the scholarship received by a university student

A, (Dand (2)only
B. (Band(3)only
C. (2)and (3)only
D. (1), (2)and (3)
28
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1. Nationai Incorne

Short & Structured Questions

1992/CE/1/5(b)
Explain whether each of the following is included in the calculation of Hong Kong’s gross domestic product

(1)  public assistance paid to the unemployed by the Social Welfare Department
(1) salarses paid to the employees of the Social Welfare Departnient
(6 marks)
1993/CE/1/4(b)(i)
Suppose a large number of Japanese TV sets are smuggled from Hong Kony to China and sold for HK$40 million.
Explain whether the whole amount of this HK$40 million will be included in Hong Kong’s GDP. Suggest TWO reasons.

(4 marks)

1995/CE/I/11(d)
In early 1995, Mr. Ip earned a commission of $20 000 by helping Mr. A sell a flat to Miss B at a price of $2 000 000. Explain
whether each of the following statements is true or not:

(i)  The commission should be included in Hong Kong's GDP for 1995, (2 marks)
(i) If'the flat is currently under construction and to be completed next year, the production of the flat contributes nothing to

Hong Kong's GDP for 1995, (3 marks)
1996/CE/1/3(b)

Share prices of Vitasoy International Holdings Limited (4 fib 35 B B 4K ¥ 5 B 2 5] ) fell because some of its products
were found to be contaminated and were destroyed.

Explain whether the value of these destroyed products would be included in the caleulation of Hong Kong’s gross national

product. (2 marks)

1996/CE/1/4(a)

A traffic light, which was worth $1 500, was knocked down in a traffic accident. The driver was fined $ 3 000 and the

government used $2 000 to instali another traffic light.

What 1s the change in the gross domestic product (GDP) at factor cost brought about by this incidence? Explain your answer.
(2 marks)

1997/CE/I/8

Explain whether the following items should be included in the calculation of Hong Kong’s gross domestic product (GDP):

(a) sewage charges

(b) the increased resale value of residential units due to a boom in the property market

(4 marks)
1998/CE/1/9(d)
Mr. Wong paid a commission of $1 000 to the broker who helped him buy $200 000 worth of shares. Explain whether these
two items of payment would affect Hong Kong’s gross domestic product (GDP). (4 marks)
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1. National income
1999/CE/1/7
Explain whether the tollowing items should be included in the calculation of Hong Kong’s gross national product.
(a) the funds raised from the Millionwalk (2 marks)
(b) the part of the public assistance which the needy spent on transport (2 marks}

2000/CE/1/9(b)(ii)
Some petroleum companies complained that their business was affected because some drivers bought gasoline from
smugglers who evaded import duties.

Explain how the smuggling of gasoline would affect the GDP of this cconomy. (4 marks)
2000/CE/1/10(b)(1i3)

Suppose Bank X of economy A takes over Bank Y of economy B by buying up its controlling sharcs worth $5 million,
Explain whether the $5 million mentioned above should be included in the calculation of the GDP of economy B. (3 marks)
2001/CEN/11(a)(ii)

Hong Kong's property market has been depressed since 1998. Explain how a sharp fall in property prices and in the number
of property transactions would affect Hong Kong’s GDP. (5 marks)

2002/CE/I/11(a)(ii)
The following shows the gross domestic product (GNP) data ol economy A in a certain year

Smillion

Private consumption expenditure 400

Net investment expenditure 180

Government consumption cxpenditure 250

Exports 500

Imports 650

Depreciation 150

Indireet business tax 50

Interest 200
Miss Wong, an Economics teacher in a tutorial school, tells her students that the total spending of economy A’s consumers
in market value must be greater than $400 million. Give THREE rcasons to explain why she is correct. (6 marks)
2003/CE/1/11(a}

Many information technology (IT) companies in Hong Kong have closed down in recent years.
Explain whether each of the following should be included in the calculation of Hong Kong's GDP,

(1) the resale value of the furniture and equipment of the above companics (2 marks)
(i) the fee paid to Hong Kong accounting firms in liquidating the above companics (3 marks)
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2006/CE/1/10(b)

Date Exchange rate ]
1 December 2005 €1 =HK$9.07
18 January 2006 €1 =HK$ 937

Through a commercial bank, Mr Chan bought 10 000 Euros on 1 December 2005 and sold them on 18 January 2006 at the
rates shown in the above table.

(i) Calculate Mr Chan’s gain / loss (in terms of HK$) in the above transactions. Explain whether this gain / loss should be

included in the calculation of Hong Kong's GDP. (4 marks)
(ii) Explain whether the above transactions would lead to an increase in Hong Kong's GDP. (2 marks)
2008/CE/1/9(a)

The stock market of an economy is overheated. Many people withdraw money from their bank deposits to buy shares.

Harry bought the shares of a company at a value of $2 000 at the beginning of the year and sold them at $10 000 three
months later. He has a capital gain of $8 000,

Explain whether this amount of $8 000 should be included in the calculation of the GDP of the economy. (2 marks)
2009/CE/1/9(c)

Some students purchase second-hand textbooks in bookstores. Explain why part of their total spending on buying second-
hand textbooks should be included in the caleulation of GDP. (2 marks)
2012/DSE/1/10(a)(i)

In 2011, the Financial Secretary announced the “Scheme $6 000" which provides $6600 to each Hong Kong permanent
resident who is 18 years old or above.

Mr. Chan is a retired person and received $6000 through the scheme in 2011, Should this item of payment by the government
be included in the calculation of Gross Domestic Product of Hong Kong in 20117 Explain. (2 marks)

2015/DSE//9(d)

In July 2014, McDonald’s was accused of using expired meat as an ingredient for its food. Later, the related products were
destroyed. Explain whether the valuc of these destroyed products would be included in the calculation of Hong Kong’s gross
domestic product. (2 marks)
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MARKING SCHEME

1990/C /11139 1993/CE/RS 199 TICEN60 2002/CE/1149 2015/MD8E/24
A A B B (52%) C(75%
1990/C /149 1994/CE/I1/32 1998/CH/11/26 2004/CE1/26 2018/D8 /1124
B B A B (71%) A(T1%)
1991 /CE//44 1999/CE/1/24 2005/CEA26
C c A(TT%)
1992/CEALA4S 1996/CE/E/2T 1999/CE/11/31 2006/CEAL25
D B A D (65%)
1992/CE/I/AT 1997/CE/11/24 Z000/CE/11/33 2007/CEM/26
A A A C (55%)
1992/CE/11/58 1997/CE/1/29 2001/CEMS0 2007/CEM/27
A B A D (59%)

Note: Figures in brackets indi the percentages of candid choosing the correct answers.

1992/CEN/5(b)

(i) Not meluded, because (1)
there 13 no production in return for the money. (2)
(i) Included, becanse 1)
it is a return to production 1n the year. {2)

No, because
{part of) 1t is not produced in Hong Kong, and (2)
{part of) it is unreported transaction. (2)

1995/ CE/11{d)

(1) True, because (1)
it is Mr, Ip’s factor income for his production / service rendered. (H
(1) False, because (1)
production cost such as the labour wages paid in 1995 are included in the national income for 1995,
ORrR
the portion completed in 1995 15 value-added in 1995,
OR
the portion completed in 1995 is investment in 1995, @]

1996/CEM3(b)
Not included, because
not a consumption expenditure (7 consurmers got their money back) nor an investment expenditure (- the products were

destroyed)

OR
no value added to GNP (" production costs such as cost of materials, wage payments, transportation cost, etc. were offset
by loss at the firm level) @
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Macrdesoniornics by fogit Maxroeconomics by Topic

1. National Income 1. National income
1996/CE/li4(a) 2003/CE/H11{a)
GDP at factor cost increased by $2 000, because 48] (1) No, because (1)
it is a current production. the amount received from the sale demonstrates merely a transfer of ownership which has no current production. (1)
OR
the $2 000 s included in the government expenditure of the current year. (H (i Yes, because (1
it represents the value of services provided by the accounting firms ()
which ave resident producing unils of Hong Kong. (W)
1997/CE//8
fa) The sewage charges should be included, because (0
it 1s a payment for the services produced by the government. [¢3] 2006/CE/1/10(b)
(i) $(9.37-9.07) % 10000 m
(b} The increased resale value should not be included, because (n =$3 000. He gained $3 000, (1)
there is no production of goods or services. (h
No, because (1)
the capital gain does not involve production (1)
1998/CE/1/9(d)
The commission to the hroker must be added to Hong Kong’s GDP, because @8] (i) Yes, because i
it 15 an income to the broker / a payment for the broker's service the banking service involved in the transactions is a production. (1)
OR
it involves provision of service in this current year. 48]
2008/CE/1/9(a)
The payment for shares should not be taken o account, because (1) No because €]
it is just a transfer of ownership of existing assets which does not refate to any current production. (D an increase in the capital value dies npt involve production. (1)
1999/CEN/T 2009/CE//9(c)
(a) Notncluded, becanse (€8] Part of the total spending is on the service provided by the bookstores. The service provided by the bookstores is a current
charily donation is not a production. (n production which should be counted as part of the GDP. (2)
(b} Included, because )
it is i exchange for certain service rendered in the current year. () 2012/DSE/II/ 1 0{a)i)
No, because (N
there is no corresponding production. (1)
2000/CE/(L)(ii)
Smuggled gasoline has no official record in the GDP figures (- illegal) ()
{On the other hand,) sales revenue of petroteum companies | (h 2015/DSEAO(d)
- GDP | 48] No, because H
it is not sold to the market and thus not counted in production. {Output Approach]
OR
2G00/CEAN/10(b)(11) it is neither counted in consumption nor tnvestment. [Expenditure Approach]
No, because (1) OR
the $5 mn. refers to the value of shares being transterred and share transfer itself is not a production. 2) business losses due Lo destroyed products (i.e., negative profits) would offset exactly wages paid lo workers and other

material costs incurred in producing these products (i.c., positive wage and other factor incomes). [Income Approach]
(1)
2001/CE// 1 (a)(if)
- market valne of cortently constructed property decreases
- total value of middlemen services (of those property agencies, law firms, etc) decreases
- effect on expenditure components, e.g. consumption |, investment |
- effect on factor income e.g. wages |, profits |
max 4)
o GDP decreases. N
(Mere mentioning of the conclusion without elaboration - zero mark}

2002/CE//10(a) 1)

Consumers’ spending would be greater than $400 m because there are

- spending on goods not currently produced, e.g., inventories in past year which are sold in this year

- spending on mere transfer of ownership, e.g., secondhand goods, existing stocks and shares, existing properties

-~ spending on mvestment items ¢ g, new houses

- unreported transactions e.g., illegal goods (2@, max: 6)
[Mark the FIRST THRER points only.]
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1.5 GDPAND GROSS NATIONAL INCOME (GNI)

Multiple Choice Questions

1991/CE/I1/43
Which of the following is included in a country’s gross national product?

A.  the expenditure on newly-issued shares

B. the salary paid to a foreign employee

C.  the expenditure on public assistance

D. the income of citizens earned abroad
1992/CE/11/48

The income of a Honyg Kong citizen working in Canada is included in

(1) Hong Kong’s gross national product.
(2) Hong Kong’s gross domestic product.
(3) Canada’s gross national product.

(4) Canada’s gross domestic product.

A, (1) and (3) only
B. (1) and (4) only
C. (2)and (3) only
D {2)and (4) only
1993/CE/N1/44

If GNP is greater than GDP,

A, depreciation is greater than zero.

B. net income from abroad is greater than zero

C.  transfer payments are greater than zero.

D.  exports are greater than imports.
1995/CE/1/32

GDP will be greater than GNP when

A. the net export is negative.

B. the net export is positive.

C. the net income form abroad is negntive

D. the net income from abroad is positive.
1999/CE/11/26

Macioscanoemics by Topic
|. National Incors

Which of the following sources of income earned by local residents should be included in the calculation of ‘net income from

abroad?

(1) export of goods

(2) export of services

(3) property investment in foreign countries

(4) stocks and shares investment in foreign countries

(1) and (2) only
(1) and (3) only
(2) and (3) only
(3) and (4) only

gow>
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Magrostonomics by Topic

1 National Income

1999/CE/11/29
Wihich of the following statements about GDP is cortect?

A, GDP will be larger than GNP if the net export is positive.
B.  GDP does not include the income derived by local citizens from abroad.
C.  GDP does not consider the value of depreciation.
D.  Net income from abroad cannot be negative.
2002/CE/11/25

In order to calculate the gross national product of Hong Kong, which of the following items should be deducted from Hong
Kong’s gross domestic product (GDP) figure?

A, the dividend received from shares in Hang Seng Bank by a Japanese person who lives in the U.S.
B.  the rental income earned by a Hong Kong resident from his property in the U.S.
C.  the salary earned by a native English teacher employed on a two-year contract in a secondary school in Hong Kong
D. the donations of a Hong Kong resident to mainland China.
2004/CE/T1/28

Which of the following items must be positive in value?

UnwE >

net external factor income flow
net exports

depreciation

gross profit of firms

2006/CEMNZ26
Girass domestic product (GDP) will be greater than gross nationa! product (GNP) when the amount of

A. net income from abroad is negative.
B. net income from abroad is positive.
C.  indirect taxes less subsidies is positive.
D. net exports is negative.
2006/CE/11/29

Which of the following items should be included in the calculation of Hong Kong'’s net external factor income flow (i.e., net
income from abroad)?

(1) the spending of a Japanese tourist in Hong Kong

(2) the revenue earned by a Hong Kong watch manufacturer from selling watches to Europe

(3) the rental income of a Hong Kong resident from property investment in the U.X.

(4) the interest received by a Hong Kong resident from his savings deposit in a bank in Switzerland

A. (1) and (2} only
B. (1)and(3) only
C.  (2)and (4) only
D.  (3)and (4) only
2008/CE/L/27

Which of the following amounts should be added to the GDP of Hong Kong in order to calculate the
gross national product of Hong Kong ?

vowp

the income earned by a Japanese singer who held two concerts in Hong Kong

the salary of a Fong Kong resident who works for the Hong Kong office of an American bank
the rental income received by a Hong Kong resident from his residential apartment in Canada
an mnvestment made by a Hong Kong resident in a garment factory in Thailand
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Macroeconomics by Tegle
1. National Incortig

2009/CE/N1/30
Suppose the GDP is greater than the gross national product. This implies that

the net factor income from abroad is positive.
the net factor income from abroad is negative.
the net export is positive.
the net export is negative.

o>

2010/CE/MI/30
Which of the following amounts should be deducted from the GDP of Hong Kong in arder to calculate the gross national
product of Hong Kong?

the rental income received by a mainland investor from his residential apartment in Hong Kong

the dividend received by a Hong Kong resident from his investment in the stock market in the US
the scholarship given by a Hong Kong tycoon to subsidize mainland students to study in Hong Kong
the salary of a Hong Kang resident working in a branch office of a British bank in Hong Kong

Tow

2011/CE/M/31
Which of the following items can be negative in value?

(1) Net external tactor income flow
(2) Netexports
(3) Net domestic fixed capital formation

A (1) and (2) only
B. (D and (3)only
C. (2)and (3) only
D. (1), (2)and (3)
2013/DSE/1/21

Which of the following items is NOT included in the calculation of Hong Kong's net factor income from abroad for the
current year?

A, the income received by a Japanese teacher who worked in a language school in Hong Kong for one year
B. rental income earned from real estate holdings in Canada owned by a Hong Kong resident
C. salary received by an Indian consultant who worked for the Hong Kong Airport Authority for three months
D. dividends earned from shares in Hong Kong held by a US resident
2019/DSE/N/25

To calculate the gross national income of Hong Kong, which of the following shoukd be added to the GDP of
Hong Kong?

A, the income earned by & Jupanese chef who has worked in a Hong Kong restsurant for two
months.

B.  the rental receivad by 2 Hong Kong resident from lessing his house in Japan to a Japaaess

C.  the salary carmed by « Hong Kong resident frot working as a secretary at the Hong Kong branch
office of an Australian cornpany N

D, the money received from selling an apartmentin Australia by a Hong Kong resident

2020/D8E//25

Which of the following should be deducted from the gross domestic product of Hong Kong to calculate the
grosy national income of Hong Kong?

A the fze paid by a Hong Kong football club to a Japanese foothall tearm for an exhibition mateh in
Hong Kong
the rent earnad by a Hong Kong property developer from its residential property in Japan

B.
C.  the capital gain earned by a Jap corporation from its financial in
B,

Hong Kong
the dividend paid by & listed company in Japan to a Heng Kong resident

| gl sl Y o e Y (= o e Y R s T e T T T T o B T B T B |

Macroeconormics by Topic
1. National income

1990/CE/1/t{c)

Explain whether the wage earnings of Filipino maids in Hong Kong are included in

(1) Hong Kony’s gross domestic product. (2 marks)
(i) the Philippines’ gross national product. (2 marks)
2001/CE/N/6

Explain whether each of the following should be included in the calculation of Hong Kong's gross domestic product (GDP).
(a) the salary of a Hong Kong citizen employed by a foreign airline

(b) the rent paid by a foreign airline for using the premises owned by a Hong Kong company
(4 marks)

2002/CE/I/10(d)
Bank A runs its business in Hong Kong. Tom is a consultant from Japan who will work for Bank A for nine months.
Afterwards he will return to Japan.

Explain whether Tom'’s salary for these nine months should be included in the calculation of Hong Kong’s gross domestic
product and gross national product. (4 marks)

2015/DSE//10(a)

Suppose a football club in Hong Kong hired a famous football player from Brazil as the coach for a 2-month course for kids
He received $8 million as his salary and returned to Brazil afterwards. However, the enrollment of the course was poor and

the revenue from the course was $3 million only. What is the effect of organizing the above course on each of the following
items? Explain.

(i)  Hong Kong’s gross domestic product (GDP) (2 marks)
(if) Hong Kong’s gross national product (GNP) (3 marks)

MARKING SCHEME

1991/ E/TV43 199S/CE/IN32 2006/CEL

0 & D (46%)
1992/CE/IY48 1999/CE/IY26 2004/CE/28 2008/CE/27 201 /CEM

B D C (53%) C (46%) A
1993/CE//44 1999/CE/MN/29 2006/CE/I/26 2009/CE/1/30 2013/DSEA2]

B B ALGT%) B (70%) A (229%)

Note: Figures in brackets indicate the pere ges of fidates choosing the correct answers.

2019/DSE/N/25 2020/DSEA/25

13 A
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1. National Income

Filipino maids are resident producing units of Hong Kong. H

(i1} VYes, because (1)
the factor owner is a resident of the Philippmes. [4)]

2001/CE/l6
{a) The answer is “included” or ‘excluded” depending on whether the fi
HK or not.

Explanation of why the firm {s or is not a resident producing unit of HK (1}
Egl Excluded:

The foreign airline operates its business in foreign countries.

1t 15 not a resident producing unit of HK.
EBg.2 Included

A branch of the foreign airline operating in HK employs him.

This branch is a resident produciog unit of HK.

(b}  The answer is “included’ or ‘excluded” depending on whether the rental income of a resident of MK is earned in HK or
not. €)]

Explanation of why the rental income is or is not earmed in HK M
E.g.l Included:

The HK company operates its business in HK and the premises are located in HK

Aresident of HK earns that rental income in HE.

Excluded:
The HK company operates its business in HK and the premises are located in a foreign country.
The rental income is earned by a resident of HK but it is an income from abroad.

2002/CEN0(d)

Included in HK's GDP, because (1)
Bank A is a resident producing unit of HK h
Excluded from HK s GNP, because (1
Tom is not a resident of BK, and his salary is an income to abroad. (48]

2015/DSEM/0(a)
(1) HK’s GDP would increase (by $3 million). (1)
As the course is a cursent-year production by a resident production unit, its value would be included in GDP (1)

(1) HK’s GNP would decrease (by $5 million), as change in GNP = change in GDP (+$3 million} -+ change in net income

fram abroad (-$8 million). )}
As the Brazilian coach is NOT a HK resident, the $8 million he received would be counted as income vutflow and
enter as a negative item in HK’s national income account (2)
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I National Income

1.6 NOMINAL AND REAL GDP

Multiple Choice Questions

1990/CE/11/53
Refer to the table below:

Year Real GDP ($Mn) Nominal GDP {$Mn)
1985 150 180
1982 120 120

What is the GDP deflator in 19857

A, 100 B. 120
C. 150 D. 180
1990/CE/11/56

When both the price level and the money income level of a society rise,

the living standard will drop because the value of money decreases.

the living standard will rise because the citizens have more money to spend.

the living standard will not change because the rise in income is offset by the rise in price.
the effect on the living standard is not certain because the extent of both changes is unknown,

vow»

1991/CE/11/59

Growth rate of GDP in 1990
| At current market prices 15.2%
[_At constant (1980) market prices 11.9%

The above data do NOT show an increase in the in 1990,

A.  general price level
B. nominal GDP

C. real GDP

D. labour productivity

1994/CE/11/33
For Question No. 33, consider the following data of an economy producing only bread and shirts:

Price in 1992 | Price in 1993 | Output in 1993
($) ($) (units)
Bread 10 12 50
Shirts 20 25 20

The GNP at constant (1992) market prices for 1993 is

A, $900. B.  $1100.
C. $1200. D. $149
40
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Macroeconorics by Topie Magroscoramics by Topc
1. National Incoeme 1. National incorme
1995/CE/11/34 2000/CE/11/36
e > . e o, R i ; P
If a country’s real GNP and price level both increase by 5%, this implies that Year GNP at current .ma.rket GNP deflator
prices ($billion)
A, the standard of living will remain unchanged. 1997 2100 105
B. the nominal GNP will rise by 5% 1998 2 800 125
C.  the nominal GNP has a greater percentage increase than the real GNP
D. the nominal GNP will remain constant. Based on the above information, the growth rate of real gross national product (real GNP) between 1997 and 1998 is
A 12%. B. 163%
1997/CE/11/23 C. 333%. D. There is insufficient information to find the answer.
The following are data of Country X.
Year 1992 1997 2002/CE/TI/30
GDP $500 billion | $700 billion Refer to the chart below.
Price Index (1990 = 100) 120 135 Gross Domestic Product of Hong Kong, 1989 - 1999
1400 ——
The growth rate of real GDP from 1992 to 1997 is: N
- 1200 - PRIy
A 244% B. 28.0% At current market prices /
C. 40.0% D. 575% T 1000 =
< w0 = —
1998/CE/M/23 i
Suppose a closed economy produces food and clothing only. The outputs of Years 1 and 2 are as follows S 600 e Atoonsians (1990 market prices_
ki =
Year Quantity of | Unit price of' | Quantity of | Unit price of l§ 100 —
food (Unit) food ($) clothing (Unit)| clothing ($) §
1 20 4 40 12 200 fo
2 15 10 35 30
0
From Yeor | ta Year 2, the real gross national product (real GNP) of this country has (98.23) 1989 1990 1991 1992 1593 1994 1995 1996 1997 1998 1999

Year
A.  worsened because the price level increases Sowrce:  The Census and Statistics Department
B. worsened because the output of both goods decreases. o
C. improved because the nominal GNP increases. From 1991 to 1998, GDP at current market prices is always greater than GDP at constant (1990) market prices because
D. improved because the technology advances
A.  the inflation rate is increasing in this period
B. the real output level is rising in this period.
1998/CE/11/29 C.  the current price level is always higher than the price tevel ot 1990.
Suppose a country experiences a 2% increase in the production volume of goods and services as well as a 3% rise in the general D. the inflation rate is higher than the real output growth rate.
price level in a year. We can conclude that
(1) the real GNP will increase by 2%. 2003/CE/11/28 S
(2) the nominal GNP will increase by 2%. Suppose the GDP deflator of an economy decreases from 100 to 90. This implies that

(3) the nominal GNP will increase by 3%. _
(4) the nominal GNP will increase more than the real GNP by 1%. its GDP decreases by 10%.
the general price level decreases by 10%.

A
B.

(1) only C. people’s real income increases by 10%.
D

A,
B. (2)only people’s living standard decreases by 10%.
C.  (1)and (2)only
D. (1), (3) and (4) only
2003/CEA129
If hoth the nominal and real GDP of an economy are rising, the general price level of the economy
1999/CE/NI/25 o
Suppose the nominal GNP and the price level increase by 10% and 5% respectively, but the population decreases by 10%. A. Isiistng:
Then the per capita nominal GNP will and the per capita real GNP will B. is fﬂ]!'“g-
C. remains unchanged.
A.  increase inctease D.  may be rising, falling or remain unchanged.
B. decrease deerease
C. increase remuin unchanged
D. remain unchanged .. mcrease
41 42
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2005/CE/11/29
Study the following information about a country:

Year Nominal GDP (in million doltars) Price index
2003 75 000 90
2004 100 000 100

As compared to 2003, the

of this country was higher in 2004.

A.  general hving standard
B. real GDP
C.  consumption expenditure
D. average income
2007/CEMN/32
Year Nomiqali GDP Popplgtion ansumer
($ billion) (million) Price Index
1 3 000 2; 100
2 3 500 2.5 110

According to the above information, from Year 1 to Year 2, the economy’s real GDP has

GDP has
A.  increased ... decreased
B. increased increased
C. decreased decreased
D.  decreased ... . increased
2008/CE/11/32

The following table shows the change in GDP from Year | to Year 2.

Change
| GDP at current market prices +5.1%
[ GDP at constant market prices +8.1%

We can conclude from the above data that the real output

and the general price level

A merensed ... decrensed
B. increased increased
C.  decreased incrensed
D decreased decreased
2009/CE/T1/29
Refer to the following statistical data (in $million) on an economy.
GDP at current GDP at constant (2000)
Year ) 5
market prices market prices
2007 142 900 134 200
2008 144 800 132 300

Compared with 2007, the general price tevel has

2003.
A. increased ..... decreased
B. ncreased ...... increased
C.  decreased ...... decreased
D. decreaved incrensed
43
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and the per capita nominal

in that period.

and the real output of goods and services has mn

~

|Matroeconosmics by Topic
I Nationa Income

2010/CE/11/33

Year-on-vear percentage change
GDP at current GDP at constant (2000)
Year . d
market prices market prices
2007 9.5% 6.4%
2008 3.8% 2.4%

Based on the above information, we can conclude that in 2008,

A, the general price level decreased.

B. the real GDP decreased.

C.  the GDP deflator increased.

D. the general living standard increased.
2012/DSE//23

e

Country A’s general price level increases by 10% and its aggregate output and population drop by 2% and 0% respectively.

As aresult, Country A’s nominal GDP will

A rise.... rise

B. rise... fall

C.  remain unchanged ... .. rise

D. remain unchanged ...... fall
2015/DSE//25

Refer to the following table about an economy.

and the per-capit real GDP will

Growth rate (relutive to previous year) (%a)
Year | Year 2
Nominal GDP 4 0
General price level 3 1
Papulation -1 2

Which of the following statements about the economy is correct?

A, The per capita nominal GDP in year 2 is the same as that in year 1
B.  The real output increased in year 2.
C.  The general price level decreased in year 2.
D. The per capita real GDP decreased in year 2.
2017/DSE//26
The following table shows some data of an economy.
Growth rate
2015 2015
Gop -3% -2%
Price level 1% 0%
|_Population 4% 2%

Which of the following statements about the economy is correct?

A.  Real GDP in 2016 decreases.
B. Per capita GDP in 2016 increases.
C.  The price level in 2016 decreases.
D. The growth rate of real GDP in 2016 is lower than that in 2015
44
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Macroeconornics by Tapke
1. Natioral Incorre Refer to the gross domestic product (GDP) data of an economy.
2018/DSE//25 ‘
The following tablc shows the gross domestic product (GDP) data of an economy in a particular year: Growth rate (relative to previous year}
GDP components $ billion Nominal GDP i

Capital consumption allowance 40

Net factor income from abroad 36 Real GDP -1.2%

Production subsidies 14 P : :

sr-capita noming =3.5%
Direct taxes 5 il ingl GDP 3.5%
Indirect taxes 47
Compared to the previous year, the general prive level has and population has in the

Which of the following statcments about the ecconomy are correct? economy in the current year,

(1) The GDP is smaller than the gross national income (GNI),

(2) The GDP at market price is smaller than the GDP at factor cost. ' A, increased ... inereased

(3) Depreciation is positive in the economy. g ;ncrenf:;’... c!ccrcnscd
N CCres. e "lmu‘d
A, (1)and (2) only D, decreased ... decreased
B. (I)and (3) only
C.  (2)and (3) only
D. (1), (2)and (3)
2019/DSE/1/23

The following table shows the gross domestic product (GDP) duta of an economy 'in & certain yoar.

Change in real GDP ~2.6%

Change fn nominal GDP -1.3% 7"

Change in population size ~1.8%
Ancurdingtothei.nﬁumutiouabove,woéanoonclnde!hminthlty;n,ﬂmprbelewl» and the
pec capits neminal GDP R

A.
B.
C.
D.

2020/DSEN26

The following diagram shows the gross domestic product (GDP} of Country A,

GDP ($ billion) Nominal GOP
T ¥

Real GDP

1 ] 1
2015 2016 2017 2018 2019

+ + Year

Which of the following statements abont Country A is cormect?

A, The price lovel increased between 2016 and 2018,

B.  Deflation occurred before 2017,

C. The sctual inflation rate was equal 1o the expected inflation rate in 2017
D, The nominal GDP has been inoreasing since 2016,
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Maxzoeconomics by Topic
L-National Income

Short & Structured Questions

1990/CE/1/3(a)(iv)
The following are Hong Kong’s Gross Domestic Product (GDP) components (at current prices) in 1988:
$ Billion

Private consumption expenditure 255
Government consumption expenditure 30
Gross domestic fixed capital formation 109
Increase in stocks 10
Domestic exports of goods 218
Re-exports of goods 275
Imports of goods 501
Exports of services 86
Imports of services 56

(The GDP deflator for 1980 = 100)

Apart from the above data (GDP at current prices for 1988 given as the above data), what other information is needed to
calculate

(1) Hong Kong’s per capita GDP at current prices for 19887 (2 marks)
(1) Hong Kong’s GDP for 1988 at constant (1980) market prices? (2 marks)
1992/CE/1/5(a)

The national income of a country in 1991 is $60 million.

(ii)  Given the price indexes for 1980 and 1991 were 100 and 150 respectively. Calculate the real national income for 1991

based on 1980 prices. (2 marks)
(iii) Explain whether the nominal national income or the real national income is a better indicator of general living standard.
(3 marks)
1996/CE/N/G
Year Price index (vearly average) Peter’s salary
1994 120 $ 10 000
1995 150 $ 12 000
From the above data, explain whether Peter’s real wage in 1995 has increased when compared to that in 1994, (3 marks)
2000/CE/I/6(b)

Study the following data about Hong Kong

Year on year % change in Composite
5 Unemployment i
Year Quarter real gross domestic rate (%) consumer price

product (GDP) b index
2nd -5.1 4.4 119.2
1998 3rd -6.8 5.0 118.6
4th -5.7 57 116.1
1999 Lst -3.4 6.2 1156

Some worker’s salaries were frozen during this period of time. Explain how their real income would change in this period.
(3 marks)
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1. Nationat [rcarme.
2002/CE//12(b)(ii)
In order to cut expenses, Mr Wong reduces the monthly salaries of the staff working in the bookstore. Explain whether the

real income of his staff would necessarily fall during deflation (5 marks)
2003/CE/1/5
The following table shows data concerning a certain country,

Year 1992 2002

Consumption Expenditure ($ million) 2 500 2 679

Population (million) 5 6

Price Index 100 95

Based on the above data, explain in which year, 1992 or 2002, the country had a higher general living standard. Show your
workings. (6 marks)

2004/CE//5
Refer to the following gross domestic product (GDP) data for Hong Kong.

Year GDP at current GDP at constant (2000}
market prices (HKS million) | market prices (HKS million)

2001 | 269 975 1 294 382

2002 1 259771 1323 650
(a) Explain whether the real output level in 2001 is higher than that of 2002. (2 marks)
(b)  For both 2001 and 2002, explain why the GDP at current market prices is smaller than the GDP at constant market

prices for the same year. (2 marks)

2007/CE/l/4(a)

The table below shows the gross domestic product (GDP) statistics of Hong Kong:
(HKS miilion)

Year GDP at cur.rent GDP at constal}t (2000) GDP deflator
market prices market prices
2003 1233 983 1390610 88.7
2004 1291 568 1510182 85.5
2005 1382 052 1619984 A
The value of A is . (1 mark)

2009/CE/1/7(a)
Refer to the following statistical information on a country.
Year 2000 Year 2008
Noaminal gross domestic product (GDP) (§ million) 16 000 24 840
Price index 160 115
Population {miltion) 10 12
Calculate the per capita real GDP for the years 2000 and 2003 (2 marks)
47
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Macroeconormics by Topk: Macmeconamics by Topic

# National Income 1. National incofrig
2010/CE/1/7(c) MARKING SCHEME
Refer to the business cycle shown below.
ReallCBPIGIowRato 1990/CE/l/53 1997/CE/1/23 2002/CE/IL/30 2008/CE/1/32 2017/DSE//26
B A C (32%) A (40%) A (52%)
Long-term Growth Rate, 1990/CE/I/36 1998/CE/11/23 2003/CE/11/28 2009/CEMI29 2018/DSE/N/25
A D B B (54%) A (68%) B {55%)
1991/ CE/THSY 1998/CE/N29 2003/CE/129 201 0/CEAT33 2019/DSEA/23
I3} A D (46%) C(37%) I
0 Year i, .
1993/CH/T41 1999/CF/I125 2005/CEAN29 2012/DSE/N/23 2020/DSE
i i . . . . . i C A B (57%) A(53%) A
During this phase of the business cycle, the nominal wage rate of some workers was reduced. Explain whether their real
SRR B R TR dlrl (3 marks) 1995/CH/134 W36 2007/ 2015/DSE/1/25 RzipsEle
[ A A (63%) D (64%) A
2012/DSEAI/ (b) . o L . X X R Note: Figures in brackets indicate the perc ges of lidates ¢l ing the correct answers.
Many workers have their salaries increased during inflation. Explain whether the real income ol these workers would
necessarily rise. (3 marks)
1990/CE/N/3(a)(iv)
(1) Population in 1988 (2)
(D GDP deflator in 1988 / Price index in 1988 ()
1992/CE/N/S
(a) (if) Real national income = Nominal national income x (Price mndex for 1980 + Price index for 1991)
= $60 million = (1007 150) (1)
= $40 nullion (1
(it} Real national income is a better indicator, because {1
it 1s {ree fram the effects of the price changes in the year. (%)
{996/CE/N/G
Real wage in 1994 = §10 000 x (100/120) = $8 3333
Real wage in 1995 = $12 000 » (100 / 150) = $8 000
OR
Real wage in 1995 based on 1994
=$12 000 x (120/ 150) = $9 600 < $10 000
OR
Change in price index: [(150 - 120)7 120} » 100% = +25%
Change m salary: [($12 000 - $10 000) / $10 000] x 100% = +20% 2)
. Real wage decreased. (1)
2000/CE/1/6(b)
For the same amount of money income, real income rose as price level decreased. (3)
2002/CEA2(bYI)
Not necessary because N
if the general price level falls at a higher rate than (at the same rate as) the wage cut, theis yeal income would increase
instead {remain unchanged). 4)
(Remark: Mere mentioning of “general price level | 7 purchasing power of money 17 - max. | mark})
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1. Natignal ircome

2003/C1
Per capita real consumption expenditure in 1992

=452 500 m + 5 m

= $300 2)

Per capita real consumption expenditure in 2002
= $[2679m x {100/95)] +6m

= $470 @
.. a higher per capita real consumption expenditure in 1992 3]
OR

Change in per capita nominal consumption expenditure
= [$(2679m /6 m) - $(2 500 m + 5 m)] + ${2 500 m + 5 m)
= -10.7% 3]

Change in price index
= (95 - 100} + 100

-5% 2)
<. % | in price index < % | In per capita nominal consumption expenditure )
Conclusion' a higher general living standard in 1992 (H
2004/CTA/S
(a) No, because 3]

the real GDP (or constant price GDP) for 2002 was higher. €3]
(b)  The general price level was decreasing / deflation / inflation rate was negative. (23

2007/CEN4(a)

(6]

200 CE N 0y

Year 2000: $16 000 mitlion + [0 million = $1 600 (1

Year 2008 $24 840 million + (115 ~ 100} + 12 million = $1 800 (1

2009/CEA/9(¢)

Part of the total spending 15 vn the service provided by the bookstores. The service provided by the bookstores is a current

production which should be counted as part of the GDP. 2)

2010/CEN7{c)

Not necessarily decreased, because [
the real wage rate will increasc if the percentage decrease in the general price level is greater than the percentage docrease
in the nominal wage rate, @)

2012/DSEM/11(b)Y

No, because (S
the real income of workers would fall if the percentage increase in price level is greater than the percentage increase in
nominal wage. 2)
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Magmoesonamcs by Tapin
1. Natioridl lescoma

1.7 LIMITATIONS OF NATIONAL INCOME STATISTICS

Multiple Choice Questions

1993/CE/11/41
The nominal Gross National Product (GNP) of a country may overstate the living standard of its people because the figure

(1) does not reflect the improvement in the quality of the goods and services produced in the country
(2) does not reflect the effect of a rise in the price level

(3) excludes the undesirable effects of production

(4) excludes the goods not transacted in the market

A, (1)and (2) only
B. (1)and (4) only
C. (2)and(3) only
D.  (3)and (4) only
1999/CE/I1/30

Under which of the foltowing circumstances will the per capita real GNP underrate the living standard?

A.  when the construction industry causes noise pollution
B. when there is an increase in population due to immigration
C.  when Mrs Lam does the housework by herself instead of employing a servant
D. when there is inflation
2002/CE/1/27

Country X has a higher GDP but a lower general living standard than Country Y. Which of the following is a possible reason
for this?

A, The net factor income from abroad of Country Y is smaller.
B.  The working hours of people in Country Y are longer.
C. Capital goods make up a higher proportion of the output of Country Y.
D. The population size in Country Y is smaller.
2006/CE/I1/50

GDP at constant market prices would NOT be a good indicator to compare the living standard of two countries when the
of the two countries is different.

(1) population size
(2) income distribution
(3) nflation rate

A, (1yond (2) only
B. (1) and (3) only
C.  (2)and (3) only
D.  (1),(2) and (3)
51
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1 Natiorsyl Incorme

2010/CE/T1/29
The per capita real GDP of a country would overstate the living standard of its people because it

Saw»

(1) does not reflect the impravement in the quality of goods and services praduced.
(2) does not reflect the uneven distribution of income.

(3) does not reflect the undesirable effects of production.

(4) excludes the calculation of the goods and services not transacted in the market.

(1) and (2) only
(1) and (4) only
(2) and (3) only
(3) and (4) only
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Macroecanomics by Topie
1. National Incormie

Short & Structured (Juestions

1991/CE/1/3
Suppaose there are only two countries and two commodities in the world. Every year each has 20 units of resources. Each
uses 10 units of resources per year to produce each commodity. The annual output per unit of resources is shown below:

Food (units Clothing (units)

Country A [ OR 12
Country B S OR 20
(a) (i) Define ‘Gross National Product’ (GNP). (4 marks)
(ii) In Country A, the market prices of food and clothing are $2 and $1, respectively. Calculate the GNP for country A.
(4 marks)
(b) To compare the general living standard of any two countries, what should we consider in addition to comparing their

GNP figures? State and explain THREE of them. (9 marks)

1993/CE/1/4(a)(ii)
The following table shows the composition of Hong Kong’s Gross Domestic Product (GDP) in 1980 and 1990:

(Ratio to total GDP)

GDP Components 1980 19%0
Private consumption expenditure 62% 62%
Government consumption expenditure A% 6%
Investment 36% 28%
Exparts 88% 165%
Imparts 93% 161%

Although Hong Kong people spent the same percentage of GDP on consumption in 1980 and 1990, their living standard
inereased during the decade. Give TWO reasons to explain this. (4 marks}

1994/CE/1/11(d)
It is known that Country A has a lower GDP than Country B, but people in Country B prefer to live in Country A. Give
TWO economic reasons to explain why this is so. (6 marks)

1996/CE/1/10(c)
Suppose after trade, Country B has a higher consumption level of both clothing and rice than Country A.

Give THREE reasons to explain why we cannot conclude that people in Country B generally enjoy a higher living standard
as compared to Country A. (6 marks)

2005/CE/l/6
Answer Questions 6 and 7 by referring to the following information about the Gross Domestic Product (GDP) of Hong
Kong.

Year Implicit price Per capita GDP at
Table 1: deflator of GDP current market prices (HKS$)
2001 98.1 188 835
2002 94.6 183 790
2003 89.6 179333

Other than the information given in Table 1, state TWO kinds of information that are needed for an accurate reflection of
Hong Kong people’s standard of living, Explain your answer. (4 marks)
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1 Mational Incoene 1. National Incodne:
Z007/CENS ) ) ) ) MARKING SCHEME
During an economics class discussion, a student said, “If the per capita real GDP of country X is higher than that of country
Y, then residents of country X must be enjoying a higher living standard than residents of country Y.”
_ ) ' L993/CE/M4L 1999/CE//3 2002/CEAL27 2006/CEAL/50 2010/CE/L29
Give TWO reasons to explain why the student is wrong, (4 marks) C C D (69%) A (38%) C (65"%)
Note: Figares in brackets indicate the per ges of candidates choosing the correct answers.
2009/CE/1/7(b)
Explain with TWO reasons why a change in per capita real GDP cannot accurately reflect the change in the general living
standard (4 marks)
1991/CE/1/3
(a) (i) GNP is the total incomes earned by the residents of a country over a period of time (usually 1 year), 4)
(i) $2» (67 10)+$1 x (12 % 10) o)
= $240 2)
(b) - same GNP but larger population size will lead to smaller per capita GNP
- relative price level consideration: same nominal GNP but higher price level will lead (o lower standard of living
- same per capita GNP but more uneven income distributions may mean lower general living standard
- different GNP composition may mean a higher consumption expenditure in one country (i.e. higher general living
standard) but a higher investment expenditure or a higher military expenditure in another (i.c. lower general living
standard)
- same GNP but a more serious problem of pollution, traffic congestion, ete. will lead to a lower living standard
- same GNP but more leisure hours will lead to a higher living standard
- same GNP but larger amount of non-market / unreported / illegal goods and services will lead to a higher living
standard (3@, max: 9)
[Mark the FIRST THREE points only.]
1993/CE/Ata)(i1)
- per capita real GDP has increased during the decade
- better guality of goods (" technological advancement)
- more varieties of goods (. technological advancement)
- more 1mports of consumer goods
- better environment protection
- less working hours (2@, max: 4)
[Mark the FIRST TWQO pomts only.]
1994/CE/V/T1(d)
In Country A with a lower GDP,
- its per capita GDP may be higher (. its has a much smaller population) and more likely to live a better life there
- its real GIDP may be higher (" it has a much lower price level)
- its income may be more evenly distributed = more atlractive to the very fow income people of Country B
- its GDP may have a very different composition e g. a much larger component of consumption expenditure = more
attractive to people who prefer to enjoy life immediately (3@ . max: 6)
[Mark the FIRST TWO pomts only. ]
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. National Incorme

1996/CE/1/10(c)
This is because we do not know
- the population size / per eapita income of both countries.
(If B’s population size is three times, say, as that of A, then in general B’s living standard is not higher than A)
- the income distribution of both countries.
(ff B’s income s highly unevenly distributed but A’s is not, then we cannot conclude that.)
- other socia} costs of both countries.
(e.g. It B has a higher crime rate / more serious social instability / ete., then B’s living standard may not be generally
hgher than A.)
- other social benefits of both countries.
{e.g. If B has less social benefits / less leisure hours / ete., then B’s living standard may not be generally higher than A.)
- what other goods besides rice and clothing these two countries have,
(e.g. If' B has less other goods, then the conclusion may be wrong.} (2@, max: 6)
{Mark the FIRST THREE points only.]

2005/CE/I/6
- [ncome distribution: If income is unevenly distributed, the living standard of ordinary people will be overastimated.
composition of output: It a large proportion of total output consists of capital goods, national defense, etc., the living
standard wili be overestimated.

- Undesirable effects of production: The problems of pollution or traffic congestion would lower the living standard.
Therefore, the living standard would be overestimated without such information.
Amount of leisure: Leisure would raise the living standard. Therefore, the living standard would be underestimated without
such information.
Unreported production activities: The consumption of non-markeled goods / the existence of unreported transactions would
improve the living standard. Therefore, the living standard would be underestimated without such information.

(24, max: 4)

¢

|Mark the FIRST TWO points only.}

2007/CE/N/5

- Difference in income distribution: Income is less evenly distributed in country X.

~ Difference in the composition of output: In country X, a larger proportion of total ouiput consists of capital goods and
national defense.

- Difterent undesirable etfects of production: There are more problems of pollution or traffic congestion in country X,

- Different amount of leisure: The people of country X enjoy less leisure.

- Different amuunt ol non-marketed £ unteported produclion sctivities: There sre fewar non-markeled / bnreparted goods in
couniry X. (2@, Ik 4)

{Mark the FIRST TWO points only.]

2009/CE/M/7{h)

{For each of the following points, the case of an increase in the per capita real GDP is used for illustration purposes.)

- Income distribution: 1f income is unevenly distributed, the corresponding change in the living standard of ordinary people
will be overestimated.

Composition of output: 1f a large proportion of total output consists of capital goods, national defense, ete, the
corresponding change in the general living standard will be overestimated.

Undesirable effects of production: The problems of pollution or traffic congestion would lower the living standard.
Therefore, the corresponding change in the general living standard would be overestimated without such information,

- Amount of leisure: Leisure would raise the living standard Therefore, the corresponding change in the general living
standard would be underestimated without such information,

Unreported production activities: The consumption of non-marketed goods / the existence of unreported transactions would
improve the living standard. Therefore, the corresponding change in the general living standard would be underestimated
without such information. : (2@, max: 4)
[Mark the FIRST TWO points only.]
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Macroeconoraics by Yopic
1. National Incorme:

1.8 UNCLASSIFIED

2007/CE/1/10(a)
Typhoons affect the production activities of economies.

It is given that the gross domestic product of Hong Kong per day is HK$3.3 billion. When the typhoon signal number 8 is
hoisted, the daily economic loss is estimated to be less than HK$3.8 billion. Give TWO reasons to explain why. (4 marks)

2008/CE//11{d)
Suppose a country’s export value of goods and services decreases by $3 billion. In reality, the resulting decrease in GDP may
be less than or more than $3 billion.

(i)  Explain a factor that would lead to a less-than $3 billion decrease in GDP. (3 marks)
(ii) Explain a factor that would lead to a more-than $3 billion decrease in GDP, (2 marks)
2016/DSE/NI/11(a)

Medical service is one of the basic human needs.

Source A; a conversation outside a public clinic in Hong Kong
Son: Dad, 1 feel very ill.
Futher: Oh no! There is a long queue waiting.
Son: Why don't we go to « private doctor?
Futher: The fee churged by public clinics is only $43, much lower than that charged by private doctors.

Refer to Source A. When a public clinic provides medical service for one patient, the resulting rise in gross domestic product
will be $45. Do you agree? Explain (3 marks)

2018/DSE/II/11

To develop nuclear weapons and increasc the military power, Country Z has raised the proportion of government
spending on national defence from 10% to 20%. All males aged from 20 - 25 are also required to join the military force
for 2 years.

In response to the increasing military threat from Country Z, the United Nations has passed a bill to embargo most of the
gouds exporting from Country Z.

Analyse the effects ol the above situation on Country Z°s general living standard. (3 marks)

57

Provided by dse.life




Mattesconamics by Tapic
1 National Income

MARKING SCHEME

2007/CE/710(a)

- Some production activities are still undergoing during (yphoon

= Some production activities ¢.g. emergency services, are generated during typhoon

- Some production activities dissupted during typhoon can be compensated Jater (2@, max: 4)
[Mark the FIRST TWO points only]

2008/CE//11(d)
(i) Part of the decrease tn export value would not lead to a corresponding decrease in GIP when, referring to those $3
billion worth of exports,
- part of it 15 not focally produced.
e.g. some of the production raw materials are imported
e.g. part of the value of these exports comes from the value of re-exports
- part of it is not produced in the current year.
e.g. some of these exports are second-hand goods
¢.g. some of these exported goods come from the inventory
- part of those goods not exported have already been produced.
e.g. those goods not exported are sold locally

{Any factor, 3)

{if) The amount of GDP derived from the spillover effect of the production of the exports wiil also decrease. 2)

2016/DSE/L/ ()

Na, because €3]
public services are usually subsidized - i.e. provided at or below cost, which is in turn lower than market price. Their
contribation to GDP (or market value), computed using market price, would thus be higher than $45 (the subsidized price
charged by the clinic).

oR
the public services which are not sold at the market price will be counted using factor cost in the GDP, which is higher than
$45. @

2018/DSEAT]

The living standard would fall, because the higher proportion of government expenditure or resources / output devoted to
national defence would not have much 1o contribute to the living standard in general.

Overall the citizens would enjoy less goods and services. Since those males drafted for military service are forced to leave
their existing jobs, their houschold income (and consumption) would fall, 3)

-
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